
136. Balletto Ennemond Gaultier?
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1) Rhythm flag ½ value in orig. Similarly in next bar.
2) Notes in bass 9 and 11 in orig.

CZ-Pnm:West Bohemian Museum Aegidius MS IV.G.18:Rettenwert lute book (1637), f.91v. Encoded and edited by Sarge Gerbode.
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3) Rhythm flag missing in orig. Similarly in next 2 bars.
2) /a and //a in orig.
1) Rhythm flag double value in orig.
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3) d in orig.
2) g in orig.
1) 2 notes /a, //a, and f in orig.
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5) Rhythm flag one position to right in orig.
4) Note dotted in orig.
3) Dot removed by editor.
2) Dot added by editor. Same in next bar.
1) 3 rhythm flags ½ value in orig.


